



$$L^k \cdot \gamma_j^o = L^k \cdot \frac{\partial \gamma_j^o}{\partial x \partial x} t_k$$

$$\begin{aligned}
 \gamma_j^x = \gamma_j^o \text{ stet part diff} &\Rightarrow \overline{\frac{\partial^x \gamma}{\partial x} - \frac{\partial^o \gamma}{\partial x} - \frac{x-o}{\partial x \partial x} \frac{\partial \gamma^o}{\partial x}} = \\
 \sum_j \overline{\frac{\partial^x \gamma}{\partial \mathbf{h}^j} - \frac{\partial^o \gamma}{\partial \mathbf{h}^j} - \frac{x-o}{\partial x \partial \mathbf{h}^j} \frac{\partial \gamma^o}{\partial x}} &\leq \sum_j \overline{\frac{\infty}{x-o} \left(\frac{\partial^x \gamma}{\partial x \partial \mathbf{h}^j} - \frac{\partial \gamma^o}{\partial x \partial \mathbf{h}^j} \right)} \leq \overline{\frac{\infty}{x-o}} \sum_{ij} \overline{\frac{y}{ij} \gamma_j^o - \gamma_j^o}
 \end{aligned}$$

$$\mathbb{R}^n \supset \mathfrak{h} \xrightarrow[\text{part 2-diff}]{\gamma} \mathbb{R}$$

$$\mathfrak{h} \xrightarrow[\text{stet in } \mathfrak{o}]{\partial_j \partial \gamma} \mathbb{R}^m \Rightarrow \partial_i \partial_j \partial \gamma = \partial_j \partial_i \partial \gamma$$

$${}^{st}F_i = {}^{o+s_i \mathbb{1} + t_j \mathbb{1}} \gamma + {}^o \gamma - {}^{o+s_i \mathbb{1}} \gamma - {}^{o+t_j \mathbb{1}} \gamma = {}^{ts}F_j$$

$${}_1 \partial {}^{st}F_i = \partial_i {}^{o+s_i \mathbb{1} + t_j \mathbb{1}} \gamma - \partial_i {}^{o+s_i \mathbb{1}} \gamma \text{ part-diff}$$

$${}_2 \partial {}_1 \partial {}^{st}F_i = \partial_j \partial_i \partial {}^{o+s_i \mathbb{1} + t_j \mathbb{1}} \gamma$$

$$\overline{{}^x \mathbb{1} - {}^o \mathbb{1} - \sum_i \overline{{}^x \mathbb{1} - \partial_i {}^o \mathbb{1}}} = \overline{{}^x \mathbb{1} - \sum_i \overline{{}^x \mathbb{1} - \partial_i {}^o \mathbb{1}} - \sum_i \overline{{}^o \mathbb{1} - \partial_i {}^o \mathbb{1}}} \leq \overline{{}^x - {}^o} \overline{{}^{o|x} \overline{{}^y \mathbb{1} - \partial^o \mathbb{1}}}}$$

$${}^x \mathbb{1} = \overline{{}^x \mathbb{1}} \text{ stet part diff} \Rightarrow \overline{\frac{\partial^x \gamma}{\partial x} - \frac{\partial^o \gamma}{\partial x} - \overline{{}^x - {}^o} \frac{\partial \partial^o \gamma}{\partial x \partial x}} =$$

$$\sum_j \overline{\frac{\partial^x \gamma}{\partial x^j} - \frac{\partial^o \gamma}{\partial x^j} - \overline{{}^x - {}^o} \frac{\partial \partial^o \gamma}{\partial x \partial x^j}} \leq \sum_j \overline{{}^\infty \overline{{}^x - {}^o}} \overline{\frac{\partial \partial^x \gamma}{\partial x \partial x^j} - \frac{\partial \partial^o \gamma}{\partial x \partial x^j}} \leq \overline{{}^\infty \overline{{}^x - {}^o}} \sum_{ij} \overline{{}^{o|x} \overline{{}^y \mathbb{1} - \partial_{ij}^o \mathbb{1}}}}$$

$$\mathbb{R}^n \supset \mathfrak{h} \xrightarrow[\text{part 2-diff}]{\gamma} \mathbb{R}^m$$

$$\mathfrak{h} \xrightarrow[\text{o-stet}]{\partial_i \partial_j \gamma} \mathbb{R}^m \Rightarrow \overline{\partial_i \partial_j \gamma} = \overline{\partial_j \partial_i \gamma}$$

$$\bigwedge_{s:t} \bigvee \left\{ \begin{array}{l} \dot{s} \leq 0 | s \\ \dot{t} \leq 0 | t \end{array} \right. \quad \overline{\partial_j \partial_i \gamma} = \overline{\partial_i \partial_j \gamma}$$

$${}^{s:t}F_i = {}^{o+s_i \mathbb{1}+t_j \mathbb{1}}\gamma + {}^o\gamma - {}^{o+s_i \mathbb{1}}\gamma - {}^{o+t_j \mathbb{1}}\gamma = {}^{t:s}F_j \text{ part diff}$$

$${}^{s:t}\overline{\partial_1 F_i} = \overline{{}^{o+s_i \mathbb{1}+t_j \mathbb{1}}\partial_i \gamma} - \overline{{}^{o+s_i \mathbb{1}}\partial_i \gamma} \text{ part-diff}$$

$${}^{s:t}\overline{\partial_2 \partial_1 F_i} = \overline{{}^{o+s_i \mathbb{1}+t_j \mathbb{1}}\partial_j \partial_i \gamma}$$

$${}^{s:t}F_i = {}^{s:t}F_i - \underbrace{{}^{0:t}F_i}_{=0} \stackrel{\text{MWS}}{\underset{\dot{s} \in 0 | s}{=}} \overline{{}^{\dot{s}:t}\partial_1 F_i} s = \overline{{}^{\dot{s}:t}\partial_1 F_i} - \underbrace{\overline{{}^{\dot{s}:0}\partial_1 F_i}}_{=0} s$$

$$\stackrel{\text{MWS}}{\underset{\dot{t} \in 0 | t}{=}} \overline{{}^{\dot{s}:\dot{t}}\partial_2 \partial_1 F_i} st = \overline{{}^{o+s_i \mathbb{1}+t_j \mathbb{1}}\partial_j \partial_i \gamma} st = {}^{t:s}F_j \stackrel{\dot{t} \in 0 | t}{\underset{\dot{s} \in 0 | s}{=}} \overline{{}^{o+s_i \mathbb{1}+t_j \mathbb{1}}\partial_i \partial_j \gamma} ts$$

$$\overline{\partial_j \partial_i \gamma} \underset{s \rightsquigarrow 0 \rightsquigarrow t}{\stackrel{\text{stet}}{=}} \overline{{}^{o+s_i \mathbb{1}+t_j \mathbb{1}}\partial_j \partial_i \gamma} = \overline{{}^{o+s_i \mathbb{1}+t_j \mathbb{1}}\partial_i \partial_j \gamma} \underset{s \rightsquigarrow 0 \rightsquigarrow t}{\stackrel{\text{stet}}{=}} \overline{\partial_i \partial_j \gamma}$$

$$\left\{ \begin{array}{l} x^3 + 4xy^2 - y^5 \\ x^{2/3}y^{1/3} - \frac{x^{3/4}}{y^{1/4}} \\ e^{xy} \\ \frac{1-xy}{(y^2x - x^2y)^{2/3}} \end{array} \right. \Rightarrow x _ : y _$$

$$\left\{ \begin{array}{l} \sqrt{x^2 + y^2} \\ xe^{x-y} \end{array} \right. \Rightarrow xx _ : xy _ : yy _$$